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Dv=t—t=t(t-1) This equals zero at t=0 and 7= 1.
v is negative on (0,1) and positive on (1,2)
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6) t = 10 (remember, speed is the absolute value of velocity) E)

7) E (look at the symmetry above and below the x-axis in the others)
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Since the derivative of acceleration is constant and positive, the mimimum value occurs at the
left endpoint, so the minimum acceleration is a(0) = -12.
B) Velocity = 0 at =1 and ¢ = 3. Testing values between shows that v > 0 on
(0,1) and (3,5) and v <0 on (1,3). So:
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C) 28/5 = 5.6 average SPEED
Average velocity = # f 05 v(t)dt =4



